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MULTIPLE CHOICE ’

The law of constant composition applies to
a) solutions
b) heterogeneous mixtures
compounds
) homogeneous mixtures
e) solids

Which of the following is not a physical property of water?
a) It is a ligquid at room temperature.
It can be decomposed into oxygen and hydrogen gases.
c) It boils at 100°C.
d) It melts at 0°C.
e) These are all physical properties of water.

What is the volume of a 12.2 g piece of metal with a density of 9.43 g/cm3?

a 2.2 cm3 3

1.29 cm3 /9\.11} C r -— C/W‘?
c) 0.773 cm3 Vdo.
d) 115 cmd I 07%’3/

e) none of these

. Of the following, is the greatest mass.
(3D 4.22 x 108 @y X /o-2 = 422 x/0°
5) 6.83 x 1075 @y k/6"> =
c) 9.73 x 109@p X/O~£1n:
d) 7.73 x 1072 @4 X¥/s0-3 =
e) 4.23 x 108 @g ¥ 12
/6~ =
. 1 picometer = centimeters
a) 1 x 1010 12
(j%}l x 10-10 10 ] -
c) 1 x 108 R Ak C: -—_ (:AfYV\
d)y 1 x 10-8 -2
e) 1 x 10-12 l 10

How many significant figures should there be in the answer to the following?

23.1 + 0.11 + 140.3 + 52.07 = *3,)

a) 5 O "

b) 1 ’

C; : 140 .3
3

vV
4 -% Ancwer To the 0.1 Z)ac.f

What is the correct answer (reported to the proper number of significant figures) to the

f?ﬁ?ﬁ?% x (5.11 x 7.72) = Y X (.5—.!/ X /. 72> — gg:l(l&&

a) 552
b) 552.29 3¢.F 3k
c) 552.3




K
versIoN 1 1M¥%- .
[

8. Osmium has a density of 22.6 g/cm?. The mass of a block of osmium that measures 1.01 cm x

0.233 cm x 0.648 cm is 3
b= 0525 Om

g.
bi T e
d) 6.75 x 103 O,lSlS’y’v}LQVQ\,é‘} — }
e) 34.5 =
! I yﬂ@/

9. A of an unknown metal measures 1.61 mm on one side. The mass of the cube is 36 mg.
Which of the following is most likely the unknown metal? '

metal density g/cm3 3

rhodium 12.4 =

copper 8.96 \6Ix/0 T m| C = 0.l6l cm
niobium 8.57 )D—;L

vanadium 6.11

zirconium 6.51 3

a) copper 3 G X/O } — ?

b) rhodium ~ 9—' 3 - -’ 63 i'
@niobium /@' lé‘[ C/WQ __________3—_.
d) wvanadium

e) zirconium C]Tf\

b. Which pair of substances could be used to illustrate the law of multiple proportions?
a) SOp, HpSOy
SO0, SO»
c) Hy0, Oy
d) CHyg, CgHy20¢
e) NaCl, KCI1

|1. Different isotopes of a particular element contain the same number of
protons
b) neutrons
c) protons and neutrons
d) protons, neutrons, and electrons
e) subatomic particles

ﬁ. Which one of the following is a nonmetal?

a) W
b) Sr
c) Os

d) Ir
Br

[3. Which pair of elements below should be the most similar in chemical properties?

a) C and O
b) B and As
I and Br

d) K and Kr
e) Cs and He




14, There are 3cP electrons, :315 protons, and
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Q_.neutrons in the

Predict the empirical formula of the ionic compound that forms from aluminum and oxygen.

2 AL 0
@) 21203 QL=
d) Alo,

e) AlpO

\
Consider the following reaction:

2 AL(NO3) 3 +3Naps 2|AlyS; +6NaNOj
The c
)

d)
e) n

2
b) 2
c) 1
4

3 HS +1Fe(<§H)3 > FepS3 +H0

Given the information below, calculate
X.

Isotope Abundance (%)

221y 74,22

220x% 12.78

218% 13.00

a) 219.7
220.4
22042
218.5

C
d)
e) 221.0

What is the coefficient of HypS when the following equation is balanced?

the weighted average atomic mass (amu) of the element

Mass (amu)

220.9
220.0
218.1

X 0,742
X 0.127¢
X 00,1300

-
=

-
-

w—
—

/€3,9 8
28-1 2
29.353

020.423
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19. The formula welight (amu) of aluminum sulfate is
342.14
,) 123.04 M GO N
c) 59.04 L\ Q\ /6
d) 150.14 ) X 0o =
e) 273.06 L 3 X QQ,O‘} - \% 3¢/2/Z7
X678 =

20. Calculate the percentage by mass of chlorine in PtCljp (NH3) 5.

(2) 23.63 L¢y 1,0
- Sk
d) 12.53 AxX38.9¢ 70-9

TERY!

g

e) 18.09 [X/?{,l -
1l. How many grams of oxygen are in 65 g of CpHpCp? BOO’OQ
8 _—
Sas o melimuse = 5203
b2 90 = 320 =SS
) 130 ? § €036

£S5 x 0.5 = 385,34 0

22 What is the empirical formula of a compound that contains 49.4% K, 20.3% S, and 30.3% O by
mass? AsSwrma |0 ©y -

a) KSOy , 49. 4 mol - I,Qé L 0‘633 -
b) KSO3 K¢ _L_},W

c) K,S0 B 3
é KZSO: S; A0.3 ool — O¢ €33 v 0/633

) KSO 3&,0‘2{ . 3 -
DI o v e = [ 8115 0.6

13. A sample of nitrogen (9.27 g) reacts completely with magnesium, according to the equation:

3 Mg + Np — Mg3Ny

iy’ 1.27,
The mass of Mg consumed is
8.04
24.1 97
c) le6.1 :
d) 0.92
e) 13.9

]4. The combustion of C3Hg produces COp and HpO:

C3Hg + 509 = 3COyp + 4H20
ARYYY 7 /o
The reaction of 2.5 mol of Oy will produce mol of HO.

A /WHQ,D

QO oo
2
\§
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L
3
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25. If the reaction of 3.82 g of magnesium nitride with 7.73 g of water produced 3.60 g of
magnesium oxide, what is the percent yield of this reaction? Balance the reaction.

Mg3Ny +3Hp0 —QNH;3; +3MgO

[ l L&d 6(3

g ses 3 1T Ly ebecl yield = 3.604

) dec M M o "

a9 49, Y 3
D pete, 2008 ™ |5l = (4.57¢ 3

j é/w.l(l

Mg /Oj/,;”g// L »Jﬂ)/o Theoretieg

%Nz N

[

‘/03 = [7.27 g/M°

ﬁW/




